


UucnoBble BblpaXXeHUS.
70+5 =75
52 - 50 = p.
14 - (26 -20) = 8
56 +4 -40 =20
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bykBeHHO€e BbipaXXeHue
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byKkBeHHbIe BbipaXXeHus






k+7, ecnu k=10
15+a, ecnn a=>5

b-9, ecnrn b=29



AnNroputm peLwueHns OyKBeHHbIX
BblpaXeHUun

1. NMpouunTaTs.

2. 3anucartb.

3. NNoacTtaBUTbL 3Ha4YeHUe
OyKBbl B BbIpaXeHwue.

4. BblUncnuThb.
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PaboTa B napax.




[lpoBepb cebs!

12+a, a=10, 8

12+10=22

12+8=20
24-c, c=14, 4
24-14=10

24-4=20



[lomalluHee 3agaHue
1.MpoynTtaTb NAaTUHCKUN
andaBuUT Ha cTp. 96.
2.Peluntb OYyKBEHHbIE
BblipaXXeHuUsA Ha cTp./ 7 noAa
YyepToMu.
3.CocTaBUTb 2 OYKBEHHbIX
BbIpaXXeHUA U peLUnTb UX.



